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QUESTION 1

What does Carbon Energy Accounting measure in an organisation?

A. The entire amount of energy used by the organisation.

B. The entire cost of supplying energy to the organisation.

C. The entire financial profit of adopting a Green IT strategy in the organisation.
D. The entire amount of CO2 produced by the organisation.

Correct Answer: A

QUESTION 2

Which of the following is the best definition of cap and trade?
A. Companies can trade emissions within an agreed limit.

B. Companies can trade emissions within agreed timescales.
C. Companies can trade emissions with an agreed price.

D. Companies can trade emissions within a single region.

Correct Answer: A

QUESTION 3

Which of the following activities should be addressed by a Green IT Action Plan?
a.

Optimising the infrastructure.
b.

Managing the environment.
C.

Steering the organisation.

d.

Improving the workflow.

A.

a, b and c.
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B.

a, b andd.
C.
aandc.
D.

b, c and d.

Correct Answer: B

QUESTION 4

Which of the following will deliver a uick win?when reducing PC power consumption?
A. Installing CRT displays on all PCs.

B. Enabling screen savers on all PCs.

C. Disabling sleep mode on all PCs.

D. Placing witch offl?stickers on all PCs.Placing ?witch off!?stickers on all PCs.

Correct Answer: D

QUESTION 5

Which of the following uses Greenhouse Gas conversion factors to work out CO2 emissions?
A. The ROCI Matrix.

B. The Emissions Reduction Flowchart.

C. The Carbon Footprint Calculator.

D. The Electronic Product Environmental Assessment Tool.

Correct Answer: C

QUESTION 6

Which of the following are risks to the success of a Green IT Programme?
a.

Alienation of key staff.

b.
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Additional unplanned costs.
C.

Perceived lack of benefits.
d.

Early delivery of benefits.
A.

a, b, candd.

B.

a, b andc.

b and d.
D.
c and d.

Correct Answer: B

QUESTION 7

Which of the following is not part of a green IT programme?
A. Stock management.

B. Demand management.

C. Capacity management.

D. Availability management.

Correct Answer: A

QUESTION 8

Which of the following are business benefits of replacing paper-based work processes?
a.

The ability to access electronic documents quickly.

b.

The ability to view documents at home and the office.
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C.
The ability to reduce the amount of storage space.
d.

The ability to decrease the time spent in meetings.
A.

candd.

B.

a, b andc.

C.

b, c and d.

D.

aand d.

Correct Answer: B

QUESTION 9

Which of the following describes Carbon Neutrality?

A. Eliminating CO2 emissions from product manufacture.

B. Maintaining CO2 emissions at a pre-defined agreed level.
C. Balancing CO2 emissions with an equivalent offset amount.
D. Matching CO2 emissions between defined business areas.

Correct Answer: C

QUESTION 10

Which of the following is a financial benefit of adopting green IT within an organisation?
A. Reduced recruitment fees.

B. Reduced electricity bills.

C. Reduced employee wages.

D. Reduced marketing spend.

Correct Answer: B
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QUESTION 11

Which of the following actions should an organisation take to help realise the marketing value of green IT?
a.

Provide public disclosures of their environmental impact.

b.

Redefine their business strategy to include green initiatives.
C.

Ensure all advertising focuses on its green message.

d.

Provide a green discount across all of its product range.

A

a, b,candd.

B.

a, bandc.

C.

c and d.

D.

aand b.

Correct Answer: D

QUESTION 12

Which of the following is a goal of the WEEE directive?

A. To remove hazardous chemical from electrical products.

B. To increase the raw materials used in electrical products.
C. To provide clear labelling on all electrical products.

D. To reduce the manufacturing of new electrical products.

Correct Answer: D
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QUESTION 13

Virtualised computing resources are delivered dynamically. What does this mean?
A. The resources are delivered with very high throughput.

B. The resources are delivered only when they are needed.

C. The resources are delivered with very low CPU utilisation.

D. The resources are delivered with no storage requirement.

Correct Answer: B

QUESTION 14

Which of the following describes the purpose of Cost Benefit Analysis?
A. To determine the cash flow of a Green IT investment.

B. To identify the risks of a Green IT investment.

C. To calculate the return on a Green IT investment.

D. To identify the advantages of a Green IT investment.

Correct Answer: C

QUESTION 15

You have started a Green IT programme. Which of these is a critical success factor?
a.

Developing staff with the right knowledge and skills.

b.

Defining clear staff roles and responsibilities.

C.

Establishing and maintaining stakeholder buy-in.

d.

Establishing staff disciplinary procedures and penalties.
A.

candd.

B.
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aandd.

b, c and d.
D.
a, b andc.

Correct Answer: D
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